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2 H15
1 H15)
n=18
m/s cm cm cm
0.71 52 60 17.5 3.0
0.70 60 19.1 2.9 66.4
0.62 60 18.3 4.1
1.
2. 52cm 60cm
2 H14)
cm mm / /
100.0 50.9 9.7 12.8 4.9
88.4 88.4 37.9 745a 10.4 107.2 11.6 _90.6 55 112.2a
50.3 46.0 12.0 13.0 5.5
21.9 43.5 25.3 55.0b 119 99.2 10.0 76.9 3.6 65.5 b
Tukey a = 0.05 NS NS 0.05
1. 100mm
2. :6/28 7/2 :7/18 17/25 11174
3. 100
3 H14)
kg/a kg/a o
35.8 27.9 37.4 95.1 38.9
35.8 100.0 a 29.1 104.3a_ 39.0 104.3 95.9 100.8 39.5 1015
32.6 25.7 40.0 97.7 39.3
9.4 28.8 b 6.8 26.5b 39.7 99.3 96.9 99.2 39.8 101.3
Tukey a = 0.05 0.05 NS NS NS
1. 100mm
2. :6/28 7/2 :7/18 17/25 11174
3. 100
4, 15
5. =7.9mm / 7.9mm +7.9mm x 100
6. 5.71
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